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. K(C,H,OH) =1.1x10""
0, H,CO,.H,S
Fe’* 0,
(o0 N H” C,H,0”
Fe'* C,H,OH HCO; HS~
: C,H,0H + CO,—C,H,0~ + HCO;,
0, +4H" +4e =—=2H,0 ¢®=1.229V C,H,OH +S*" >C,H,0™ +HS"
Fe'" +e =—Fe’" ¢°=0.770 V + C,H,0Na NaHSO; .
E® =(1.229-0.770) V >0 NaH, PO,

C,H,ONa  NaHSO,.C,H,0ONa  NaH,PO,
4Fe’ +4H" + 0, —=4Fe’" +2H,0 :
o K,(H,80,) =6.2x10°°

Fe’* 0, K,(H,PO,) =6.23x10""
K(C,H,0H) =1.1x107"°
Fe'* .Fe( OH) ;. HSO; . H,PO;
12Fe’* +6H,0 +30, ==8Fe’* +4Fe( OH) , | C,H,0H o CH,0" H'
Fe’* 0, HSO; JH,PO,; HSO;  H,PO,
- C,H,0H C,H,ONa  NaHSO,.
— Fe( OH) ;. NaH, PO, ;
4Fe’" +80H ™ +2H,0 + 0, ==4Fe( OH) , | C,H,0" +HSO; »C,H,0H | +S02"
C,H,0” +H,PO; -»C,H,OH | + HPO;"
° Mg
H ().
A.1 mol/L NaCl
3Fe’* +NO, +4H*=—=3Fe"" +2H,0 +NO 1 B.2 mol/L NaOH
\C,H;OH  Na,CO,.Na,S C. 0.5mol/L
C¢H;ONa + CO, + H,0— D. 1 mol/L NH,CI
C,H,OH | +NaHCO,
C,H,ONa + H,S—C,H,OH | + NaHS C .
NaHCO, NaHS Mg
Na,CO, Na,S. H, 100C ¢(H") =1x10"° mol/
L.  NH,CI te(H") =
K,(H,CO,) =4.2x10"" =
K,(H,C0,) =4.8x107" Wﬂ/?c 2\/11111%5Xl =24
K, (H,S) =9.0x10"° 10 mol /L.
K,(H,S) =1.2x10"" 1 x10 *mol /L Mg 1 mol/L. B
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